APP S

S I U DY

ENGLISH REPORTER AND TAMIL REPORTER IN TAMIL NADU LEGISLATIVE
ASSEMBLY SECRETARIAT SERVICE

1. Assertion (A): B.R Ambedkar launched Mahad Satyagraha
Reason (R): He wanted to Unite Hindus and Muslims
a. (A)is correct (R) explains (A)
b. (A) is correct (R) does not explain
c. (A)is correct (R) is wrong
d. (A)is wrong (R) is correct
e. Answer not known
a&Bul (A):  U.oir. oubBusHST wamd FHHWTHIHHMmBSH OHITL IS 6.
amend (R): BeuT SbaHisseT BBID (LPeOSDEMENT QHHISINEIISHS  (LPUIGTHBITT.
a. (A) apm g (R) smewid sapBens alens@S B
b. (A) sapm afl (R) smyewib sgmpBens elenssalsvamnso
c. (A app gf (R) smyewd sHeupl
d. (A) aapp seupr (R) smewid &
e. alowL Gafwealsenso

2. Aurobindo Ghosh was defended in the Alipore Bomb case by

a. C.R. Das b. Motilal Nehru c. Bhula Bhai Desai
d. Bipin Chandra Pal e. Answer not known
SI0UT @i Oeugli] apdHHled DPalhs CHTOIHHTEH UPHMS UTHTIQUIT
a. C.R. smerd b. Gurgeored Gmrm c. yeorurmus Gzpamul
d. e shgly uTed e. alewL OFfwailsdensv

3. The famous quote “Long years ago we made a tryst with destiny” was given by
a. Dr. B.R. Ambedkar b. PK. Jawaharlal Nehru c¢. Mahatma Gandhi
d. Abul Kalam Azad e. Answer not known
ysp Oumm CuomOsmeien “Hewil  oeWIBGHEHHE (P HIES6T alHujrer  (wpwmBd
CFUIBHTD” WMITed eUPMISLILILL g7
a. LmaLT .oyt oubGusHsTT b. meuamiteored Gm(h
C. LDBTHIOT HTHIH d. 916 BHevTD SLFTSH
e. alewL GEMwealsdensv

4. What is the land ceiling limit under the Madras Land Reforms Act of 1961?

a. 30 Standard acres b. 50 Standard acres c. 40 standard acres

d. 55 standard acres e. Answer not known

.. 19610 SuewiB Ol gmerd Hevd FTHHHHEF FLLSH &, Hlev 2 FFUTLDL| 6163607
a. 30 memeowiment 6T b. 50 BHleweowimer e&sT c. 40 Bleneowimedr b

d. 55 Bleweowimer et e. alenL QxfNwealsvensv
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5. 1. The Civil rebellions began as British rule was established in Bengal and Bihar and
they occurred in area after area as it was incorporated into colonial rule.
2. There were more than forty major rebellions apart from hundreds of minor one.
Which of the above statement/s is/are true?
a.1only b. 2 only c. Both1 and 2
d. None of the above e. Answer not known
1. eudismend pmid Usmied Uflwead odl BoeululLsmed o 6MpT(hé  SenTFdsel
OarLmigler. Guweld Siemeu Smevalih i S Fuled QEIBEILIGT QBTSN SLILL L HT6D
SN  [HBLDHSH60T.
2. BIBpISHISETRl FBlw SenTFdasmens Haly BIBUSHIGGWL CoBulL CQuilw HenTFdHer

L [b&e.

BGuwBsv TG FmBmIGeied gflwmerig/ e 61gi1/ eleneu?

a. 1 i@ b. 2 w @b c.1 ppib 2 Fuwier
d. GuBsewiL  eemeauuilsvenew e. alewL OFflweailsdensv

6. Name the British Prime Minister who announced the Communal Award on 17t August

1932?
a. Ramsay Mcdonald b. Lloyd George c. Stanley Baldwin
d. A.V. Alexander e. Answer not known

1932 b Suewih QHe0B WIS 17 SEb BT6T auGlieursd OsTLmw Spalds LIfLyad
Ugso whHM wrT aaiumsdsd GuBULILab.

a. gmbGsF GIo&H6ILTerTe0L b. eomun’ sty C. eLTeirel ULTeO(hHe 6T

d. A.V. 96edervmemiit e. alenL Qxfwelsoensv

7. Match List I with List II and select the correct answer using the codes given below:

List I List II

A. Vinoba Bhave 1. Police Action

B. Nethaji 2. Noakhali

C. Nizam of Hyderabad 3. Satyagrahi

D. Gandhiji 4. Azad Hind Fauj
A B C D

a. 3 4 1 2

b. 1 4 3 2

C. 4 3 2 1

d 2 1 4 3

e Answer not known

Uesteupd L iguwisd [-gy ulipuied I o et GQumpgd gfilwner almLemwd Bpitey GFUIs.

U guied I Ul guied II

A. alGermmur LGy 1. Gumeded BLGUYHMS

B. Grar) 2. Breusme

C. maymund Blerombd 3. FHHWLNTHS)

D. smphaed 4. o575 @b H LT
A B C D

a. 3 4 1 2

b. 1 4 3 2

C. 4 3 2 1

d. 2 1 4 3

e. alewL GFMwealedenev
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8. Who was considered to be the first - social reformer to appear in Modern Tamil Nadu?

a. Vallalar b. Vaigunda Swamigal c. Periyar

d. Ayothi Dasar e. Answer not known

Baiel HLOPBHHHL CHTANIW (PFHeL Fepd FTHHHSHUTHWTSHDS SHSUILGUGUT WImT?
a. GUGITEIGOIT b. ®6u@ewILGeumLilae C. Quiflwimit

d. &8ursg sraf e. alewL OFfwalsdensv

9. Which among the following were the causes for the out break of Vellore Mutiny in

18067

a. Use of animal fat greezed bullet, poor salary, New turban, caste marks and earrings
clean shaving.

b. No Promotion, Heavy Punishments, Poor Salary, New Turban, Clean Shaving.

c. Use of animal fat greezed bullet, No Promotion, New Turban, Poor Salary, Clean
Shaving.

d. No Promotion, Poor salary, New Turban, Castemarks and Earrings, Clean
Shaving

e. Answer not known

Lelteu(heueiouBmIen  elemeu, 1806-opd  ouewiG  HewLOuBm  Ceugonm  ALumul  H6v&SHH MBS

SHTIeRIMIH6T HGLD?

a. wWmasnsaie OQsmuwly ysiul'L GCamlLréselr, (@GHeBeurer FlbUemd, UHul  eend
SHmeolILTend, FTHHGBIUIBE6T WBBID STHEWNH6T, SHHFHLOTH SHTENL MU LS H60.

b. ugal o wiimaleenn, SQIDTES SHEIL M6, (GHMBEITET FLOLIGD, LFHuleumd HmeolILITend,
GSHDIOTH SHTENL MU OIS H60

c. Wmpsmselar Osmuwly ysiulr GCamiLrsser, usel o wieleemd, L Hul  euemns
SHMEULILITNS, GHDBEUTEN FLOLIEND, HFHSLONS SHTenL MU LOLIHH60

d. usel o wieleaew, GMBeUTET FOLETD, UHW eudd HmeolLmend, FTHEGHUIGS6I
LOBBID STHEWNH6, SHHDHLOMH SHTENL MU LOLHSHH60

e. alowL Gaflwaisenso

10. The name of the script used in the Sangam Age was

a. Kharusthi b. Devanagiri c. Tamil - Brahmi

d. Grantha e. Answer not known

FhG HTELHFH60 LWLSILGSHSLILLL 6I(IDSHSHI agaudHHlen O wimg?

a. sQrmayd b. Gxeuprasi c. sWpL - ymb
d. dybosid e. alenL  GaMuwealsvemen

11. Thirukural is one of the great poetry of our literature. It answers all questions relating
to life ethics, social, political, economics and education etc. If we give a proper
interpretation. It is so popular that it has been translated into many languages in and
around world.

Which of the following is best implied in the passage?

Thirukural is a collection of answers to all questions

Thirukural is a religious book

Thirukural is a prose

Thirukural is a compendium of knowledge

Answer not known

oo o
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FHmEGMmeT BD BevdsBwmselled HmeoFBhHH @6, UTDHMB  CHNSI(LeDBHET,  FepsiD,
Sfwed, OQuUTmHeMTHTIL  BBID  Hevall BUTHIB  SDAIGHH  ASMEHEHSGD  allenl
SeMePma.  Waayd  Lyueoomer  HmbSGSmeT  Lev  GomPsefled o sudenaled  GLomg
QuuITaSLILL (BeTernd.

Wetteu(meussteuBplied o1& Fpliuns ugbHSHuled GuBIUILLIuC BelTengi.

a. SIMAHH OTHBEHHGSGIOTH LIGHeodela OHTSGHLILUTES FH(HHSHM6T 2 _6ieng)

b. Amab@meT @@ FOWHTED

C. HHBSGHMET QT 2_mIHEDL

d. dpsepet @ opflaystibg CsTGLY

e. alowL Gafweilsdenso

Which among the following Political Party introduced co-education system at primary
level in Tamil Nadu?

a. Dravida Munnetra Kazhagam

b. All India Anna Dravida Munnetra Kazhagam

c. Dravida Kazhagam

d. Justice Party

e. Answer not known

Lelteu(heuaiouBmIeT 6lhd SFFlwed &L & HOpEHHe0 SuIbusb SHevaluled EmUTeoT sHeval
(pmBmW SISI(PSLILGSHSHUISI?

a. gyralL (WerGabs &IpsLD b. omabAbSWw jewenm Sgral (WaIGaIBB HLSLD
d. Hyrel swsbd d. pos a4 e. aleomL  Oafwalsbensv

The Erode plan of E.V. Ramasamy consist of the following;:

1. Extension of Life Insurance for all

2. Free education for all

3. Abolition of untouchability

4. Nationalisation of essential Industrial Factor

a.1only b. 2 only c. 1,2 only

d.1,23,4 e. Answer not known

F.Cou.gmogmouler FGIMLG H LD SpsewiLmeudeaied 6Tend BTN (HbHHI?
1. SmaehHEGSGD pulel STUN.G HLLHms alfleyubsHaHigheo

2. SmaTa(hEHGD HLLTW Beveudd Heval l6MdHe0

3. SewiLmenid QLA

4. oGFHumaudlu Camleosemen HTLBLDLD D EEH60

a. 1 w’ @ b. 2 wl @b c. 1, 2 w @B

d. 1, 2, 3, 4 e. alenL  Gafuwealsvemev

Who published ‘Kudi Arasu’?

a. Periyar b. Anna c. Singaravelar
d. E.V.K. Sambath e. Answer not known

‘Glwrs’ mrefgsemw Oeuefluiil Leur wmr?

a. Gufwm b. s c. dmsmyGaleuit
d. EV.K. sus e. aleowL  Oafwalsbensv

“Trunthamizhile Unfal irunthen imayor
Virunthamizhtham Yendralum Venden!”
O! Everthing Tamil!

I am living by you. If the Heavely

Elixir comes to me, I will not like if’
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Which Dhoothu book contains these verbes?

a. Kaakkai Vidu Thoothu b. Tamil Vidu Thoothu c. Nenju Vidu Thoothu
d. Megavidu Thoothu e. Answer not known

“@mbaCY o eeimed mbGHaT SenoGuimi

allmhHOD HD eTamTevd GeuentGLeor”

a3 UML6L eufldell @LbOUBID HTH HIT6O 61517

a. a1hms Al HTFH b. 100 oG sl C. Opehd ol SIS

d.Gos &lF snsl e. alenL  GaMuwalevemnev

From where did Manimegalai get the Amudhasurabhi?

a. Vuvavanam b. Manipallavatheevu c. Kaviripoompattinam
d. Vanji Maanagar e. Answer not known

LeGLBmevEE DIWPHHFT a3 DI Fw UTSHHTD embs el S55H17

a. ©_6UEUGILD b. weml LeYeVUSHE] C. sralfliylbu ged

d. euehd OTBBIT e. alewL  OgMwalsdensv

“Poomadanthai Vazhap Puvimadanthai Veetriruka

Namadanthai Nool Vaakkum Nal”

For whom does Vaanidasan mourn in these lines?

a. Kambar b. Kannadasan c. Annadurai
d. Kalaignar M. Karunanithi e. Answer not known

“U wLbBmS eumpll LelwL heomg eiBBlhes

BIOLHMS [BIT6L UTHGHLD [HI6T 6T6iml

UTeRI ST WTT EBHHenD 6T6wwTeullLl LITIQU |6TTETITIT?

a. Slbu b. sewenisTaeT C. S|GUTEUITSHIN]
d. ®meVEHT. (Ip. H(HEWIMHLS e. alenL Gz fweailsvemev

Who was awarded the Shakithya Academy award for the Book “Puthiya
Dharisanangal’?

a. Prapanjan b. Ashoka Mithran c. Rajam Krishnan
d. Ponneelan e. Answer not known

“yAw sfgamiser’ 6B BEISE FTHHHW ST almaH CuBBeuT WT?

a. Uguehgeir b. ©BgraSHHye C. BITeLba(HewTest
d. Gureieievest e. alenL  GaMuweailsvemev

Which great work preceding Thirukkural praises the needs of water as “Neerindri
Amaiyadhu Ulagu”?

a. Paripaadal b. Nattrinai c. Kuruntogai

d. Tolkaapiyam e. Answer not known

“miiand SlmwWTgdl 2 0@~ eaipl HHBSHBEHHE (WaTBu dmpflul BIed 61gh?

wr. uflumeed b. BBenewt C. GBHOSTNS

d. Gzmevsmiiwibd e. allenL  Gafweaisvenso

Madurai Kaanji Talks about people of which ecosystem?

a. Kurinji b. Mullai c. Marutham

d. Neithal e. Answer not known

HImTH STEhd 6lhFH Hev HBHeMe auTDalLImevd FnplsBg?

a. ePlehd b. wedemev C. ID(HBID

d. GruISHed e. alewL  Gafwalsbensv
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21. In which place the poetries of Sangam Literature have been categorized by Sangam

poets?

a. Madurai b. Trichy c. Karur
d. Poompuharpattinam  e. Answer not known
FRISLLEVAITHET SHRIS6T HelendHdmen 6mGsH eumaLILIH S 6rT?

a. DHIEn] b. Hmsd C. BT
d. ybysTiu gesd e. alewL Gxfuwailsdensy

22. From which text are these likes taken
“Pulam mikkavarai pulamai therithal
Pulam mikkavarkke pulanam”?

a. Naladiyar b. Naanmanikadigai c. Thirukkural

d. Palamozhi e. Answer not known

“Yeuld WSBBEUMTLI LjevemlD O\HIflFHe0

yeod 10&&6aTHES LjeventTdD” 616013

D9&H6IT B LDOILIBMIeTEN [HITeD 61517

a. [BIT6VLQUITIT b. mreoemibsigemns C. FHHEGSBET
d. p@iomf e. alewL OgMwalsbensv

23. The MGNREGA was first launched in the year

a. 2005 b. 2006 c. 2008 d. 2009 e. Answer not known
waTHT  HMHdH  Cxdlw  omps  Geauemev o migl FiLd (MGNREGA) wsed (paedsd
OaTLmIBLIULL  S1601(H
a. 2005 b. 2006 c. 2008 d. 2009 e. allewL  Osfwalsvensv
24. Tamil Nadu Integrated Nutrition Programme was introduced by
a. Dr. M. Karunanidhi b. Dr. M.G. Ramachandran c. Dr.]. Jeyalalitha
d. Mr. C.N. Annadurai e. Answer not known
SLODBHTL 196D Q(HRISINENIHS ol L FF5HSI S L LOTETSH . SIGUTEHEITED
SIBPSLILGSHSLILL LS.
a. Dr. (p.&smewmma) b. Dr. M.G. gmogapdyer  c. Dr. 6. Geguisoedst
d. . C.N. ojewienimaieny e. alenL  Gafuwailevensv

25. Which city is known as Knitting City in Tamil Nadu?

a. Coimbatore b. Erode c. Tiruppur
d. Sivakasi e. Answer not known

SIOPHTLIg6L ‘LleiTamevmenl BBTD’ 6THImI SIGNDSHHLILIBISBI 61517

a. GamuwibLSHHTT b. #Gym(p C. FHmlyT
d. deusnd e. alewL Gafuwalsdensy

26. Why Coimbatore is called as Manchester of South India?

Due to more number of Electric Motors are produced

Due to the functioning of More Textile Mills

Due to the functioning of more number of Educational Institutions
Due to the functioning of more jewellery manufacturing units
Answer not known

o0 o
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GamubysHaT, OHet BbSHwnaller OTETOFEOLT 61D DIMPSHBLILIBOISHE SHTT6wID 6T6i1601?
IFH® eremtenibensulevmer Wer GOTLLATH6T 2 BusHs OCFUILINLGEISHTED

DIFH® eTewtenibensullevren Hlewl GLeELH6T 6FUIGOLIHEISHT6D

OIFH®B Heval HBICUSDTRIHET 2 6T6MHT60

SIFHB Slenalevnadl HMd 2 BLGHFH HBIOISTRISET 2 6TeMHT6e0

alenL  Oxfwailsvensv

oo o

Which Chennai is called as “Detroit of Asia”?

a. Due to the presence of Textile Industry

b. Due to the presence of Automobile Industry

c. Due to the presence of Leather Industry

d. Due to the presence of Film Industry

e. Answer not known

“opFwreler QLLgmuil” e OCFaremeT g6l SIemPSHBLILGBHBSHI?

a. ayefld GHTLHlevTed b. Gl LT eutserd GHmPeomed
c. Bzpmed GmmbevTed d. HevgiiuLg GzmPeomed

e. allewL  Gaflwalsvenso

As per 2011 Census the density of population in Tamil Nadu was

a. 384 per sq.kilo meter b. 425 per sq.kilo meter

c. 555 per sq.kilo meter d. 561 per sq.kilo meter

e. Answer not known

2011 W&HETOSHTNS HWISHSBBLIINGT LY SUIDHTLIQED LOSHHETOSTMNS DL TH)
a. 384 per sq.kilo meter b. 425 per sq.kilo meter

c. 555 per sq.kilo meter d. 561 per sq.kilo meter

e. allewL  Ggflwealsvensv

The measurement of multi-dimensional poverty index is based on .
a. Health, Education and Living Standard b. Education and Health

c. Nutrition and Longevity d. National Income and Rich men

e. Answer not known

UsSi(pad g GPuilemL Sleal(B (penps S FWBmB  DgLILINL WITHS BT .
a. HFSTHMD, Heval LOBMILD UTDSMSBSH HILD b. ®eval BEID SHSHTHMID

C. FHIIW6| WOBHBID BeITeUTLDE] d. BxAwr eIHOTEID, LIGWTSST]T

e. allewL G flwaisvenso

According to Tamil Nadu Human Development Report (2017) District is ranked
tirst position.

a. Kanyakumari b. Ariyalur c. Kancheepuram

d. Chennai e. Answer not known

SODHTH IHev wellgk Gubum' B Spfidemns 2017861 LY T LD (IpHeL B G360
B(HHS B

a. seenwr@Lof b. oiflweort C. &TEhdFJLd

d. Goerener e. allenL  Gafweaisvensv

The Public Grievance Day is conducted in Tamil Nadu.

a. Every Wednesday b. Every Friday c. Every Saturday
d. Every Monday e. Answer not known
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SLODBTL 1960 BT6T QUTH 0SHHM6IT (HMBHMET HBEGHLD [HT6T
a. IOBUT(H LFHeinaslpenio b. @610t Geuesiterdapentp
C. @aulleumm FedbdIpemLD d. @eiQaunm HEiseTdpamio

e. allewL G flwalsvenso

In present situation are the longest sources of irrigation in Tamil Nadu.

a. Tanks irrigation b. Wells irrigation c. Tube wells irrigation
d. Canals irrigation e. Answer not known

SBOUTIHSHI 2 6T BleveugLiLily SHLOLDPHTL 1960 UTFRID DIHB lenalled 2 6Teg.

a. 9SS (KB LITFGILD b. devipiser LITEF6ID

C. GOTUI HewIBIH6T LITEF6TLD d. &TeLEUTUISET LITF6ID

e. allewL G flwalsvenso

A dozen bananas cost Rs.20. Then the number of bananas that can be bought for Rs. 100
is

a.b b.12 c.20 d. 60 e. Answer not known

Qh LT auTedplLpS e allewev .20 6lefled h.1005@ uTRISILGLD  euTenLpLILILpRIS 6 6d
6T6U5T6U0T) b 61 &b

a.5 b. 12 c. 20 d. 60 e. el OgMwalsbensv

Find the difference in compound interest and simple interest for p=Rs. 8,000, r = 5%
p.a. and n = 3years.

a. Rs. 61 b. Rs. 661 c. Rs. 1061

d. Rs. 1261 e. Answer not known

p = 8,000 eh, Wb eully aipb r = 5%, n = 3 semIGEeT 6lafled, LB QULIGSHEGLD,
SHaneul 1phGHD QLG 2 _eitem alHHUTFHMS HT601H.

a. Rs. 61 b. Rs. 661 c. Rs. 1061
d. Rs. 1261 e. alenL Gz fuweaisvensy

If A =2%and B = 264 + 263 + 262+ + 20 which of the following is true?
a. Bislarger than A by 1 b. B is 264 more than A

c. A and B are equal d. A is larger than B by 1

e. Answer not known

A = 2% pBpud B = 264 + 263 4+ 202+ |+ 20 genis QBTGB [HeTeng).  LNeTeauHeueralisled
o1& 2_ewienip?

a. B oyeig Ay el 1 oiFsD b. B aes A-m;; el 29 gifsid

c. A wpmib B b d. A gz B-m &l 1 oifsid

e. allewL  Ggflwalsvenso

How many two digit numbers are divisible by 13?

a.6 b.7 c.8 d.9 e. Answer not known
13 960 uGUBLD Fifleudhd 6TEITEH6MM6IT 616016001 HENHMUIS  HTEHTS.
a.6 b.7 c.8 d.9 e. alenL  GaMuwalevemev

If a clock strikes once at 1’0 Clock twice at 2’0o clock thrice at 3’0 clock and so on, how
many times will it strike in a day
a.78 b. 156 c.234 d. 312 e. Answer not known
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@b SRS @b WSS @b WoB, 2 walse Qb (pamp, 3 wWmisE apeais (L
aeiBeuTm  QHTLIHEH  Flwns  @albeumm eidb@ @60 epUUD  6afled, @  [HTere0
DISEBYFMILD THHM6 (PewB @6Vl 6T(LPLILILD?

a.78 b. 156 c.234 d. 312 e. alenL  GaMuwalsvemev

51473985726315863852243496

How many odd numbers are there in the sequence which are immediately followed by
an odd number?

a. 1 b.2 c.3 d. More than 4 e. Answer not known
51473985726315863852243496

BHEHTLT auflewauled @h @BenB 6TemIenenid OCBHTL(HD 6THHEMET QRBENMB 6IWIH6T 2 6IT6ITe?
a. 1 b.2 c.3 d. 468 Ged e. alenL Gz fuwealsvemsv

The house of a street are numbered from 1 to 49. Senthil’s house is numbered such that
the sum of numbers of the house prior to Senthil’s house is equal to the sum of numbers
of the houses following Senthil’s house. Find Senthil’s house number?

a. 35 b. 25 c.30 d. 20 e. Answer not known

Rm Oxmaled o efen  alBseEpdsd | WeHew 49 ey  OFHTLTFHAWTS  HHale0HELID
UPRIBLILL (BelTengl.  OahgHleder il lgB@ (paiaidTed o 66  aihdale  &HHaINe0DHBHIS6N 6T
&L (BHopTemswLTag  OFhsHels el Bl Uastes o 6len eaihsealan  SHalevdamiserer
&L (S OFTmHEGHF FOW eleled CFHHeI il B BHMVSDHMHH HTEWIS.

a. 35 b. 25 c. 30 d. 20 e. alewL Ogfwalsbensv

A person saved money every year, half as much as he could in the previous year. If he
had totally saved Rs. 7,875 in 6 years then how much did he save in the first year?

a. Rs. 3,800 b. Rs. 3,725 c. Rs. 4,000

d. Rs. 4,200 e. Answer not known

@ BUT alCatT oLemiBld oI5B& (WhHmsw el Cuilds OFTamsulsd uUTHmWF
CrusamIT. 6 ewiBHeNed SleuT ap. 7875 & CHFOSHBT 6l6lled, (LPHEL LEWIGED SIGUT
Ga1lldhs OFHTend elelaleey?

a. Rs. 3,800 b. Rs. 3,725 c. Rs. 4,000

d. Rs. 4,200 e. alenL  GaMuwealsvemev

If A is an event of a random experiment such that P(A) : P(A) = 17 : 15 and n(s) = 640.
Then find n(A).

a. 320 b. 340 c. 305 d. 310 e. Answer not known

@M swanmini Gsremauled A a&m @m Bapsdulss P(A) @ P(A) = 17 : 15 whonb
sIIBeUT QEmhbslILL (BeTeng eafled N(A) STews.

a. 320 b. 340 c. 305 d. 310 e. alenL  Gafuwalsvemev

A and B together can complete a piece of work in 4 days. If A alone can complete the
same work in 12 days in how many days can B alone complete that work?

a. 4 days b. 5 days c. 6 days

d. 7 days e. Answer not known

A-wyb, B-wib Bsbg @  Geauemevenws 4 mTLSeMed  (ppluT. A LB Helwns
SieuBauemevenwt 12 mT defled (il eefled B ol Gid sefluns  i6iGaemevenu  61&5Hement
BT &6aMe0 (WigrimiT?

a. 4 BT &6l b.5 B sei C. 6 [BITL_&6iT

d. 7 muser e. alenL  GaMuwalsvemev
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43.X, Y and Z can do a piece of job in 4, 6 and 10 days respectively. If X, Y and Z work
together to complete, then they are paid Rs. 31,000 on the whole. Then find the separate

shares of X, Y and Z?
a. 6,000 ; 10,000 ; 15,000 b. 10,000 ; 6,000 ; 15,000
¢. 10,000 ; 15,000 ; 6,000 d. 15,000 ; 10,000 ; 6,000

e. Answer not known

X, Y vppid Z ou@8unm @n  Couemevenwt (pedpGwl  oBmitd BTLSeMed 4, 6 o@Bpid 10
BT &6Med (PLILT. cpeumd @& CaFihah Sibd Coumevenu! (PRHHTD DIUTHEHEHE .
31,000 eupmislL@GD eeflsd X, Y w@pid Z sHefdseiCull QU LnkigseT STewnias?

a. 6,000 ; 10,000 ; 15,000 b. 10,000 ; 6,000 ; 15,000

¢. 10,000 ; 15,000 ; 6,000 d. 15,000 ; 10,000 ; 6,000

e. allewL G flwalsvenso

44. The volume of container is 1440 m3. The length and breadth of the container are 15 m
and 8 m respectively. Find its height.
a.23m b.7m c.12m d.40 m e. Answer not known
R UTHHTHHT Bansieney 14440 15, SUILTSATSHHST Hombd BBID SiB6evd (WedsBw 15 1
LBBID 8 1 elefled DIHE 2 WITHMBDH SHTEWI.
a.23 18 b. 7 8 c.12 8 d. 40 18 e. el OgMwalsbensv

45. If the base area of a hemispherical solid is1386 sq.meters, then find its total surface area?
a. 1386 m? b. 4158 m? c. 2772 m?

d. 5544 m? e. Answer not known

QM  Hewio  emIHCasmendhHer  SglLgliy 1386 Fgip  WBLLT  eeled, SH&T  CoTHSL
UBLILTLIenLIS HT6uls.

a. 1386 &.8 b. 4158 z.f c. 2772 5.8

d. 5544 F.6 e. alewL Oz fwalsbensv

46. In a single throw of a die, what is the probability of getting a prime number?
1

a. 1 b. > C. 3 d.o e. Answer not known
QM USML 2 (HLLUUGBL CuTdl usmLUleT (P& 6l LIST eleuieniTd S(hHd HHDHDH
wrg?
1 2 .
a.1 b. 5 C. 3 d.0 e. alenL  Gafuwalsvemev

47. The difference between simple interest and compound interest for a sum of Rs. 10,000
lent at 8% P.A. in 2 years.
a. Rs. 64 b. Rs. 68 c.Rs. 70 d.Rs. 72 e. Answer not known
. 10,0005 8% opewip ey oipd ealed, Brawi® UMBHeNe HMLHGD Fnl (B
AL REGSGID Hleul 19db@GHD 2 6o allSHHWITFID
a. Rs. 64 b. Rs. 68 c.Rs. 70 d. Rs. 72 e. alenL  GaMuwalevemev

48. A sum of 48,000 was lent out at simple interest and at the end of 2 years and 3 months
that total amount was Rs. 55,560. Find the rate of interest per year.

a.5% b. 6% c. 7% d. 8% e. Answer not known

SLOMS GUPRISILILL  SiIF60 ah. 48,00058 2 SLewiBHel 3 WWIHd STOSHHBSGL Ll
el ly cpeold GQUBLULL  OLTHHH OFHTmad h. 55560 b HHSHH  6leled, aullg
AIHHMSD HTEWIH.

a. 5% b. 6% c. 7% d. 8% e. allewL  Ozfwalsvensv
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49. In an ordinary year find the simple interest on Rs. 900 for 73 days at 8% p.a.

a. Rs. 14.40 b. Rs. 15.50

c. Rs. 15.40

d. Rs. 14.50 e. Answer not known
QM  FTHmen  UMGHGH 8% ey eipsHHed  @h900-b& T3 BTLBEHHEG HMLSEGLID

SHONAUL LY  HTEIb.

a. Rs. 14.40 b. Rs. 15.50

c. Rs. 15.40

d. Rs. 14.50 e. alewL  Ogfwalsbensv

50. The Car that I own can go 150 km with 25 litres of petrol. Then the number of

kilometers it can go with 30 litres of petrol is
a. 160 km b. 180 km

c. 200 km

d. 210 km e. Answer not known
aeigl A HHe0 25 UL QULBrmed Gamewiy 150 &b Gums pujb eeflsd 30 60LLIT

OuLGymeded LWeNSBSLILIBLD HITLD.

a. 160 &.8 b.180 &.i8 c.200 &.8
d. 210 &8 e. alenL  Gafweaisvensv
51. If L_x_ 18 then the value of x and y is
25 5 y
a. 3,30 b. 3,35 c.530 d.5,35 e. Answer not known
15 x _18 . - . .
%5 5 y elelled X BmID Y — &l WFHIILSH6I
a. 3,30 b. 3,35 c. 5,30 d. 5,35 e. alenL QFfwaieoensv
52. The LCM of ( 5x-10), ( 5x2 - 20) is
a. 5(x+2) (x-2) b. 25(x+2)(x-2) . 25( x-2)2 (x+2)
d. 5(x-2)2 (x+2) e. Answer not known
(5x-10), (5x? - 20) @euBplesr L5.GLM.LO.
a. 5(x+2) (x-2) b. 25(x+2)(x-2) . 25( x-2)2 (x+2)
d. 5(x-2)? (x+2) e. allewL  Ozfwalsvenso
53. The LCM of ( x*-1), ( x2-2x+1) is
a. (x-1)(x+1)( x2+1) b. (x2+1) (x+1) (x-1)2 c. (x2+1)(x-1)3(x+1)
d. (x2+1) (x-1) e. Answer not known
(x4-1), ( x2-2x+1) BeuBpiesr 15.QUT.LO
a. (x-1)(x+1)( x2+1) b. (x2+1) (x+1) (x-1)2 c. (x2+1)(x-1)3(x+1)
d. (x2+1) (x-1) e. aflenL  Ozfwalsvenso
54. Find out the HCF of 11, 0.121 and 0.1331
a. 11 b.0.11 c.0.011 d. 0.0011 e. Answer not known
11, 0.121 wmmip  0.1331-651 15.0UT.01. HTEWIS.
a. 11 b. 0.11 c. 0.011 d. 0.0011 e. alenL  GaMuwealevemev

55. Find the HCF of the polynomials x3+ x?-x+2 and 2 x3-5 x2+5x - 3.

a. x+2 b. 2(x3+ x2-x+2) c.-7(x2-x+1)

d. x2-x+1 e. Answer not known

x3+ x2-x+2 o@uid 2 x3-5 x2+5x - 3 gl ueoIBINILG CaTemausenedt LS. GILIT.61. BT,
a. x+2 b. 2(x3+ x2-x+2) . -7(x%-x+1)

d.x2-x+1 e. alenL  GaMuwaisvemev
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56. Express the following into percentage: 200 ml in 2 litres

a.10% b. 2% c.20 % d. 100% e. Answer not known
FHaipHHe0 IBBIS: 2 6 Lifled 200 1H.60.
a.10% b. 2% c.20 % d. 100% e. alenL  Gafweaisvensy
2 2
57.1f X ﬁ’ find the value of Xz h yz
y 5 X" -y
a. 6l b. 25 C. 61 d. 36 e. Answer not known
25 11 11 25
2 2
X 9 6160160 XZ i yz &1 WL ST,
y 9 X =Yy
a. LE b. 2 61 d. 36 e. alewL  Oafwalsbensv

25 11 “n 25

58. Mental inertia and dogmatism are the harmful disadvantages of

a. Generalization b. Scientific method c. Inductive thinking

d. Empirical thinking e. Answer not known

6T [HleweVLold,  GHe(peveii -  SeneuulyewihLd @ HmHG alewenaldb@Ld
GEICE IR

a. QUITHIMLOLILIBHSHSHISH6E0 b. opalwed (pewm C. FHMWIL6O FbgHenent

d. sie dpsemer e. alenL Oafweaisoensv

59. Let the boiling temperature of water in a pressure cooker be T. Then

a. T=80°C b. T=90° C c. T=100° C
d. T>100° C e. Answer not known

DWSHHF Fenoliumeisd Bl GardHmbemsy Geulipenso T ereiis. DIIGUTSI,

a. T=80°C b. T=90° C c. T=100° C
d. T>100° C e. alenL Gafwealsvenso

60. The Zig - Zag movement of colloidal particles of cytoplasmic matrix is called

a. Streaming Movement b. Amoeboid movement c¢. Brownian movement
d. None of the above e. Answer not known

mFL CLTINMTEFSHIH T Fn DB MEOLIGUT[HET cUMETHSHI 6UmeTHFH CFe0ID HHTalet LT

a. evoefilim bHHiTey b. ouSurtuIG BsTe C. LGyenenilules HHiTey
d. @me IO B60em6V. e. alewL Gafuwealsvemnsv

61. Assertion: A refrigerator transfers heat from lower temperature to higher temperature

Reason: Normally heat cannot be transferred from lower temperature to higher
temperature without doing any external work.

a. Both Assertion and reason are true and reason is the correct explanation of assertion.
b. Both assertion and reason are true but the reason is not the correct explanation of
the assertion
c. Assertion is true but the reason is false
d. Assertion is false but the reason is true
e. Answer not known
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FB: R  Gelifgngder  Oully, Gepeuter GeuliuBleneoulelhbad DI SLILIQUITET
Gauliu Hemevd@ OCalILSmSD HLSHHIF M.

SOOI LD: by @ U Geuemeowyb OFUIWLMDED FTHTI6IOTS  Ooullid  GHMMbHS
Geutiupleneoule(mb I SIFHBLILIQUITET Geuri BNV CaulIugeng
BLSHHIFBSI.

@y fl smyewd gfl. sryeod gappiBaTer Fflwmer alendasid

BB BBID STyewID &Ml LMD SMT6RID BBt Fhwmer allemdaLe060

F&Bm il HLEITeL HTTewId Heuml

FBBI HOUB DLETEL HTJewnid &)

alemL Qg fualsoensv

o an o

Life is a physico chemical entity which exhibits
a. Reproduction b. Irritability c. Locomotion

d. All the above e. Answer not known

o ulit em GBumniwesd - Gaugdlulwed OFHTSLY. Reueyuifl OCHETEHSLILLL meusbeiled 6Teng
CeueMiLBSHSHIFBSHI?

a. BeIGLI(HESLD b. 2 misgiemitgd C. ®LUGUWITES

d. @mer SimaTHHID e. alewL OxpMwaledensv.

Food cooks faster in a pressure cooker than in an ordinary pot with a loose lid because
the higher pressure.

a. forces heat into the food more rapidly  b. lowers the boiling point of water

c. Raises the boiling point of water d. Increases the specific heat capacity of water
e. Answer not known

SHONTeUTET  clpiQUedLUl  FTHmgenill  uUTeneiuled o ewiey Fowlums el  DIPSHHF
FMOWIBHeVaN0 alenFouTd FmbsLLBSBSE goaraisd DIHS SIPHIHLD

a. 2 _euelal g Oauliudhmsd alenjoursd CFasHHID

b. Bier CaTHPmevmUIS GHMBSHEGID

c. piar GargBamevemul oiF&faELw

d. piler ser Geuli giUSHBeneT OIFHHMaHED

e. alewL G flwailsenso

The control and co- ordination of our body is under the control of system.
a. Circulatory system b. Reproductive system c. Digestive system

d. Nervous system e. Answer not known

B 2 L elal QhmSemenhd OFWeOLT. HoH@EW0, S BUUTLIQHBEGD STJERILOTET  LDGNIL VLD

a. @I5% @UL wewiLeod b, BanIOUmGS DaHIL6VLD C. Fyewi 1DGUWIL 6VLD

d. By e 6vlb e. alewL Gafuealsvemnsv

A perfectly black body is that which

a. is totally black in colour b. can radiate all its energy

c. is made of ideal gas d. absorbs all the radiations incident on it

e. Answer not known

Q(H (PEMLOWITET &S(HLDOILIM(HET 66Tl

YWD S@BLIL BHBdHHeoTeig

DB DMDHBH BBENVUILD HFHTaiFs (Wwempuled OGeuefuliBLd

GO FlUl eUTUIRITED LTS

DIHACOLBLD DIWaTHSH SHTaiFsFbImenud HIHHHS CBTeTEHLD
allewL O flwaisdensv

o an o
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is the second largest State in India on account of its size.
a. Tamil Nadu b. Uttar Pradesh c. West Bengal
d. Madhya Pradesh e. Answer not known
ugliuenalled @ewiLmeugd GQuiflu @bEul LOMHeVLDTELD.
a. sUPHTH b. o $AyiilyCsad c. CoB eumsTeNnLD
d. wsHw FGsad e. alenL Gafwealsdemnso
The place where ISRO successfully tested the first human carrying rocket engine Vikas

(Gaganyan -human space mission) is

a. Mahendragiri - TN b. Kalpakkam - TN c. Koodangulam - TN

d. Narimanam - TN e. Answer not known

welgHmer gBplF CFeoId (WPHeo JTHOHL  alsred @eedener Se0@rm  CeumsEIIoTSE
Camddhd BLID (Fsaiwmer weld alemoeuafil Lwew S L LD) SSLD.

a. wCshHHTHMN — HODHTH b. seourdsbd - SHOWDBTH

C. SLMIG6ND - SODHTH d. pfwewid - SOWBTH

e. alewL G flwealsvenso.

The Ecological conservation strategy “Meendum Manjappai” Scheme was introduced
by the Chief Minister M.K.Stalin on

a. 15th December 2021 b. 20th December 2021 .25t December 2021

d. 23rd December 2021 e. Answer not known

SFBOBIFGSL0  UTHISTUY  eufl(penmdbsmer  “BauiBl  EhFLINU”  SHLULLD  (LPHEVHLOFFT
(.&.610LTe0l60T DIeUTSH6NMTED DIBIPSILBGSSLILIL L [BI6iT

a. 15 wawuir 2021 b. 20 wabuT 2021 c. 25 gur 2021

d. 23 wabur - 2021 e. alenL Gafwelsvemsv

Maximum punishment in Juvenile Justice Act.

a. Imprisonment for life or upto 11 years and fine

b. Imprisonment upto 10 years or fine

c. Imprisonment for life or upto 10 years and fine

d. Imprisonment for life or upto 8 years and fine

e. Answer not known

SprT BHF FULHHO DHSULF SHeWILener WiTeneu?

a. SLUGT SHEWIL M DleVevGH 11 YewiB&H6I WBBILD HIUFTSHLD
b. 10 syemiHEe auemy FenB HEHIL M DIGVVH DILITTHLID
C. SLUGTHMIL MG DeLeVFHI 10 SLewIBH6T WBBID DILITTHLD
d. Spuel ST SieGHI 8 EWIBH6T OBBILD DILFTHID
e. alewL Oaflwealsvenso

The capital of British India was shifted from Calcutta to Delhi in the year

a. 1907 b. 1911 c. 1912 d. 1913 e. Answer not known
&605HFHTalel(HhHH GLevedlenw LIl 9as @bHHwTaler HeMeUbHETOTS LOTBBLILILL  SL60T[H
a. 1907 b. 1911 c. 1912 d. 1913 e. alenL  GxMuwialevemev
Which of the following is incorrectly paired?

1. CACP - Commission for Agricultural Cost and Prices

2. ICDS -Integrated Child Development Services.

3. NFSA -National Food Security Association

4. MDM - Mid Day Mission

a.1and 2 only b. 1 and 3 only c.2and 3 only
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d. 3 and 4 only e. Answer not known

Leau(heuasteuBplied 618 Hoummsd EenentdhaLILL (HeTerng?

1. CACP - afleugmus GFevey LBEBID 6fleney G (D

2. ICDS - HEIFmahs Gbhmd Gubum h GFmeudei

3. NFSA - GaAw 2 _ewiey UTHISTIL FBIGLD

4. MDM - &I [BT6IT L6

a. 1 wBpb 2 Wl @G b. 1 woBmid 3 1wl B C. 2 oBmIb 3 L (B
d. 3 wBpib 4 L B e. aleowL  Oafwalsbensv

The start-ups under the “Big Privatization Push” after the waves of Covid 19 Pandemic
are called

a. Small units b. Unicorns c. Private Players

d. Infant firms e. Answer not known

Covid 19 weasel Usg “Oufw  sHelwrmowwrsssd o haiiheo o (Heursw
CpmiBaTenevsaier GLUIT

a. FpeaTPed BmieueID b. welsmier C. gelwmt GFmibleomertT
d. swbms Boieieid e. alowL Gafuwealsvemev

The period which witnessed rapid urbanization in India is

a. 1901-1931 b. 1931-1961 c. After 1961

d. Before 1901 e. Answer not known

BbFHwTaled BHHILOWITHH60 HIflGHOTe STemIILLL  SHT60D

a. 1901-1931 b. 1931-1961 c.1961 6@ B
d. 1901-8@ ey e. alowL O Muwiealsvemen

Which crop requires maximum water for cultivation?

a. Barley b. Maize c. Sugarcane
d. Wheat e. Answer not known

Gouenment BLOUQYHMBBEHDHE HH Slenaled BT CHemeuliBLd e LUlT

a. umed b. wssTsEGamenid C. &(HIDL
d. Gargiemio e. alewL Gafuwealsvemsv

It is a species of the broad leaved forests

a. Deodar b. Fir c. Spruce
d. Rosewood e. Answer not known

urhe BDevevd HTHHeMeT Semideaied 6I(hHeug

a. 19GuwimLi b. .. C. GrOLJeTR6ID
d. GymerdeyL e. el s fwealsvemsv

Which of the following rivers is known as the “Ganges of South India”?

a. Kauvery b. Krishna c. Godavari

d. Narmada e. Answer not known

&6 OBTHHBLILL(BeiTen  LmIFeaied “OHett BbHWTales SHeND .~ 6B DMPSHBLILIBGAIS
o1gl?

a. &nBeurfl b. #magewn c. Gargmeurfl

d. mpioms e. alewL GaMuialsdemsv

Which winds provide heavy rainfall to the east part of Tamil Nadu?
a. Westerlies winds b. South - West winds c. North - East dry winds
d. North - East cold winds e. Answer not known
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SODBTL I  HIpdE UGHHBEHHG HD Slenaleorer WL GQumflelener C&THaHEWD
STHBBIH6T 6Teneu?

a. CuBasHaw STHBBISHET b. COa&G0BE STHBEISHENT

C. QULIIDHEG GUBCWIL HTBMISH6IT d. e dpsE Gelibs STBBISET

e. alemL Oz flwailsvenso

Shivaji maintained a Naval fleet at

a. Salsettle b. Kolaba c. Bassein
d. Kalyan e. Answer not known

flaurgl emIG SLBUML HenHemnd BHmiel SmbHHTT?

a. gmevllagl Bsv b. Gasmeorum c. GuerSesr
d. seowimew e. alewL GaMuwelsvemev

Name the Sikh Guru who founded the holy city of Amritsar?

a. Guru Govind b. Guru Nanak ¢. Guru Ram Das
d. Guru Tegh Bahadur e. Answer not known

FaFlwTseler Leld sHeowmer HOTHImeny BHpeluw Foalw Gmalar Guweamys GBllGs.
a. &m GCamalbd b. &m BT C. G JOD HTern
d. am Cxd ussm e. alewL Gafuwalsdenso

During the Maratha rule, the revenue of the state came mainly from

a. Land b. Trade c. Fine

d. Transport e. Answer not known

gTHAWT gt Flulled BT Igen (PSHSIUl auheuTul 61&le0HHSH GUBLILILL g7

a. [Mevld b. euenilasid C. SILITHID

d. Curs@arsal e. alewL Gafuwalsdenso

Name the persian scholar who was chosen as Akbar’s tutor

a. Abdul Latif b. Abdul Salam c. Abdul Samad
d. Abdul Rahim e. Answer not known

ssuflar epdflugre Bsitey OFwwtiul’ L umyfs ilepfler G

a. SIIFHIED VB b. sniged Feombd C. SIIFIL FLDG
d. snged Fanfid e. alewL Gafuwealsvemsv

Name the author of Brihat Sambhita:

a. Varahamihira b. Dandin c. Buddha Gupta
d. Amar Singh e. Answer not known

‘Ufss Fbadst’ eeigild BHreder oudfui

a. eugmasLd ey b. sewnges C. Udhd &GUHT

d. suordm e. alewL GafNuwalsdenso

Assertion (A): Zafar Khan the right wing commander of Ala-ud-din was killed by
Mangols

Reason (R) :Ulugh Khan, the left wing commander deserted him

a. Aisright Ris wrong  b. Both A and R are right

c. Aiswrong Risright  d. Both A and R are right, R is the correct explanation of A

e. Answer not known

FBOIA):  SeUTeHRNET aIeEHI FTMl HEDeLEUT FTUTHTET LRIGHTEIWITEHENMTEL GEBTELEVLILIL LTIT.

asryenb(R): BL g gmil Hevevaugner o e)IhdHTer ieUed] &AL B il L.

a. A sfl R sapm b. AR @yewiid gl c. A pap R &

d. A R gyewipo afl R A uflesr gflwimer efendasid Bb. el GFfNwalsvenso
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84. Which of the following was the Port City of Indus Valley Civilisation?

a. Lothal b. Harappa c. Kalibangan
d. Larkana e. Answer not known

Uesteumeuaioubmien FbdH Fobeuel BTEMESHHen SHewBLs BBID 61517

a. Geurdhged b. emylium C. FeMLmisen
d. eviremen e. alenL Gafwealsdemnso

85. Match the following;:

A. Aryabatta 1. Mathematician

B. Nagarjuna 2. Jain Scholar

C. Siddhar Sena 3. Buddhist Scholar

D. Vira Sena Seva 4. Grammar Scholar
A B C D

a. 4 1 3 2

b. 1 3 2 4

C. 1 2 3 4

d. 4 3 2 1

e. Answer not known

SLPHEWILUBenB  OILIT(HSHHIS.

A, syflwac L 1. swis Bz

B. mrairegrenm 2. MG Ljev6uiT

C. dggx Gz 3. Uss Leveui

D. afy Goen Ggeur 4. @e0oHH6mT L|6VAMT
A B C D

a. 4 1 3 2

b. 1 3 2 4

C. 1 2 3 4

d. 4 3 2 1

e. allewL  OFflwealedensv

86. Right to Information Act came into force on

a. 22 June 2005 b. 12 October 2005 c. 15 June 2005
d. 15 August 2005 e. Answer not known

SHB6U60 P o Menod FULID HOL (PMBESG 6UbSH hewI6.

a. 22 sgreit 2005 b. 12 &GLmuT 2005 Cc. 15 sggret1 2005

d. 15 g@edl” 2005 e. alewL GaMuwalsvemev

87. Which of the following subject comes under the Central Government?

a. Banking b. Agriculture c. Prison
d. Public Health e. Answer not known

LHHW DIFTRIGHHGT S UTHInQUl HIMBHET 6157

a. QURIBSHHImD b. efleugmuwib c. dlampHHiens
d. Gurs o 1 edpBeves e. alewL Gxflwalsdensv

88. A Lok Sabha speaker addresses his / her resignation to whom among the following
a. Deputy Speaker b. President c. Prime Minister
d. Law Minister e. Answer not known
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SIpHHMILauBmIe GeomdFUT FUTBTWST Helghl JTTegleanmiomenal eleufl b SyefiiumT?

a. W6l FUIMBITUIST b. Guwrss SHmeveuT c. UgsLor

d. sLL gemwFa e. alewL GaMuwelsvemev

The RTI Act of 2005 has schedules

a. 5 Schedules b. 10 Schedules c. 2 Schedules

d. 8 Schedules e. Answer not known

2005 &b SLemih HBeued UMD o MewFaFL L 1b I L 6Uen6enTIH6T CBTemIL HTGLD.
a. 5 ugdHmei b. 10 ugdsen C. 2 UGH D6

d. 8 ugdsei e. alewL GaMuwealsvemev

Match the following terms with their meanings:

A. Adjournment Sine Die 1. Minimum number of members
required to be present in the House to transact
business

B. Quorum 2. Last sitting of existing Lok Sabha, after a new Lok
Sabha has been elected

C. Kangaroo closure 3. Terminating a sitting of Parliament for an indefinite
period

D. Lame - Duck Session 4. Only important clauses are taken up for debate

A B C D

a. 3 1 2 4

b. 1 3 2 4

c. 3 1 4 P

d. 2 3 4 1

e. Answer not known

SSHBTMILLBLD CFTBHMET DH6T DITHHHBHIL T CUT([HSHSHLD:

A. @53 el 1. omaienwl BLsHFH CHeweuwmer o ML TenT 6TevTemNdHemab

B. @eunyid 2. Yzl wdssaMmed GCHTHOBHHSSILLL LIBE SenLFuimer Lienipul

DS EHBEIIEN6Y  SILDITEY
C. smIsMNm L 60 3. UTITEHLOSIBHENSH STELUMTWBBI HFH M6UHH6E0
D. Geob & oioiTey 4. (peHFHwrer o I gamisemen oL (BLD eleurdliig
A B C D

a. 3 1 2 4

b. 1 3 2 4

c. 3 1 4 2

d. 2 3 4 1

e. allewL  OFflwealedensv

Right to Information Act, 2005 provided an effective frame work to article

of the Indian Constitution.

a. Article 9 b. Article 19 c. Article 29

d. Article 30 e. Answer not known

HBealeL Gumid o flewwF &L 2005 @bFHw  SIFFuleoenioliNest alFbGH @

fmbhs SLLMWLML  UPERIGHIEBSI.

a. algl 9 b. alg19 c. alg 29

d. alg 30 e. alewL GaMuialsvemev
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92. How often in a year, the Central Consumer Protection Council should meet?

a. Once in a year b. Twice in a year c. As and when necessary

d. Every month e. Answer not known

wHHW  HBISTCTT UTHSTUY G LLLD BLSIHBE 61HHM  (LPdB  BLSHSLILIL L
Bouemt(HLd?

a. U (Ppews b. &yewi® (Wwews c. Cxpemeu gmUBLOEUTEFHE0ETLD

d. @eiQeurm WITHWLD e. alenL Gafwealsdemnso

93. Consider the following statements about the preamble.
1. Jawaharlal Nehru called it as the “Identity Card of the Constitution”.
2. It reveals the source of authority of the Constitution
3. It reveals the nature of Indian State.
4. It reveals the objectives of the Indian Constitution
Which of the given statements is / are wrong?

a.land2 b.1 only c. 2 only

d.3and 4 e. Answer not known

1. meuamieured Gh(H SuTHeT SFHmer “Ofied FTFaISHeT DlenLWTen Sl 6Tyl
a5l 6uTIT.

2. B85 SFued TSI HFHBMTHmS CeuellLBSHHISBSI

3. @bhHw BILger Herenoemuwl OeuellILBSHHIS B

4. @pFHw oPdwed FTFRISHET CFTeTemndHmen GeuailILBSHHIBBSI.
BB HTEMIILBLD euTES WEIB660 6151/ 6Tener HeuBTeTeneu?

a. 1 Bmib 2 b. 1 @G C. 2 o (Bib
d. 3 wBpd 4 e. alenL Oafweisdensv

94. Who is the first Vice - chairman of NITI Aayog?

a. Arvind Panagariya b. V.K. Saraswat c. Rajnath Singh

d. Arun Jaitely e. Answer not known

B WIS (PHe0 HINENTH HEMEVGUT WITT?

a. ouaipbd LeTSTRAWT b. V.K. ggerdeus c. gremTs Sm
d. omewr g1 6l e. alewL GaMuwealsdemev

95. Main functions of Reserve Bank of India is / are

1. Bank of issue of Notes 2. Safety locker

3. Letter of Credit 4. Banker’s Bank

Select the correct answer by using the codes given below

a.1 and 4 are correct b. 1 and 2 are correct c. 2 and 3 are correct
d. 3 and 4 are correct e. Answer not known

@bgHw fael eumsluller (pohalw Liewt el

1. uewid GeuaflulBHHeL 2. UGS GuL L&D

3. BL&T HPHLD 4. oumISHeMet eumIg

GPuibse cpeod Fflwimer alemLemwl g ifley GFUIsm.

a. 1 oppb 4 gflwrerene b. 1 wBmd 2sfwneener . 2 wBEId3 Ffwreaiene
d. 3 wBpb 4 sFhwrerene e.alenL Gafweailsvemnso

96. “By giving relief to states immediately, the debt burden of states will become moderate
in future” is quoted by
a. Dr. Manmohan Singh b. Dr.C.Rangarajan c. Dr. Srivastava
d. T.R. Prasad e. Answer not known
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“LOMHeVMIBEHDHE © L aTgUITd HL 60T HeUTJ6NID 6UPRIGHISH6T (LP6VLD, LOMHI6VMIG66 618 THT60
SLET G LOSHTHISTS BBHSHGW™ B WiHmL Faiyl?

a. Dr. weGuwrser b b. Dr.C. Gpmisymegest c. Dr. nfeuerdmeum

d. T.R. dysns e. alenL Gafwealsvenso

Which one of the following is not an employment generation programme?
a. Rural Employment Generation Programme ( REGP)

b. Prime Minister’s Rozgar Yojana ( PMRY)

c. National Food for Work Programme ( NFWP)

d. Jandhan Yojana

e. Answer not known

Ueteupeuereubmien 618 Ceuemeveumuili] o (HeuTH@Gl LD Ee0enev?
a. eags Geusmeveumiiiygh HLb (REGP)

b. dyswr Geuemeveuruniys S (PMRY)

c. GaAlw Goumevsd o ewieyd HLL( NFWP)

d. mpser AL

e. alewL OFfwalsdensv

Which organization collects data on Poverty in India?

a. Planning commission b. NSSO- National Sample Survey Organisation
c. CSO - Central Statistics Office d. Election Commission

e. Answer not known

@bFHwraled supieny LB Ueited afleugmisenend S GLo Himieuetd 61gi?

a. FLLEGW

b. NSSO Bxdw wrdhfl euuie) Sigiaiesid)

c. CSO- (nggdwi Lemefuiuied oievieue0sHLD)

d. Gaiimed SyemewiuID

e. alewL Ggflwailsdenso

Identify the sectors of the Indian Economy which are the most affected the Covid
Pandemic

1. MSME Sector 2. Aviation Sector

3. Tourism and hospitality Sector 4. Telecommunication sector

a.3 and 4 only b.1and 2 only c.1and 4 only
d.1,2 and 3 only e. Answer not known

Camalll OQHTBHBIS STEVHHD @HHWL CUIHMTHITHHE WGHHWTS LTHSSUIULL  SHeNBEH6IT
SIGHLLITENLD  SBITCITSH.

1. MSME gienp 2. almerssiens

3. ampieor B almHHCHTOUD Hiews 4. OFHTemevd OHTLITLS Hiewm

a. 3 w@Bpb 4wl G b. 1 wBmb 2w’ Gib c.l wBmib 4 G
d. 1, 2 wBmid 3 w’ G e. alewL Gafualsbenso

Which of the following is / are not part of the agricultural price policy?
1. To improve technology for higher production

2. To help the distribution of land

3. To fix the procurement prices

4. To manage public distribution system

Select the correct answers by using the codes given below:

a. 1 only b. 2 only c.1,2and 3
d.1,3and 4 e. Answer not known
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APP.E LD
s GPuilLHe oz Couenmewt  alewevd  Oametensuile  (1pHHw  ChTHEMmISeT0
G TEHE?
. 9198 2 BUSHEEG OHTHN HILUSHMS 2 WTHBHISD!
2. Beooll udTeydhE 2 HalaIg
3. Gamepmed allewevenl Hitewruld OFuIgHe0
4. Qumgil uglitey (enpenuwl Gevresien OFUIZ%H6E0
GPuiBse cpeold Fflwimer elenL  HT6wISH
a. 1 wl@w b. 2 w' @ c. 1, 2 wBypb 3

d. 1, 3 By 4 e. alewL GaMuwelsvemev
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